ALGEBRA

CHAPTER 10-4
NOTES
SOLVING QUADRATIC EQUATIONS

A quadratic equation can have one, two, or no solutions
A solution to a quadratic equation is when y = 0.  This is called the x-intercept
I.  Find the x-intercept(s) by graphing.
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2 solutions



one solution



no solutions
II.  Solving using square roots

****Know (memorize) the perfect squares (0, 1, 4, 9, 16, 25, . . .)

Must know from 0 – 20 and 25 

Solve.
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Two solutions



One solution



No solutions











(Cannot find the 











square root of a 










negative number.)

III.  Applications

A museum is planning an exhibit that will contain a large globe.  The surface area of the globe will be 315 ft2.  Using 
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, find the radius of the globe.
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There are two solutions to this problem.  However only one is correct.

Since you are finding the radius (a measurement of length), the correct answer is +5.
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